


Activity:  3

          In  the figure,   AB is the diameter of the circle.         

        Then find

         a)  

          b)  

          c)  

         d)  

         e)   

         f)    

Activity:  4

       Prove that the  two circles drawn on the  equal sides of an isosceles triangle, as diameters  pass  through the 
midpoint of the third side.
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Activity 4
In the figure AB is the diameter of the circle. If

QAB =300, APB=1100 , find

a) ABP
b) AQB
c) PBQ
d) QPB

Activity 5

A circle is drawn with one side of an equilateral triangle as diameter. Is the third vertex inside the circle or outside?

Activity 6 

a)In quadrilateral ABCD, find the measure of D

b) If we draw a circle with AC as diameter, check whether the
points B and D are inside the circle, outside the circle or on the
circle
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Acitivity 4
In the picture, circles are drawn with the sides of rhombus ABCD 

as diameters. If we join BD 

a)Which type of triangles are  ?

b) Prove that these four circles pass through a common point

Acitivity 5
In the figure, AC=24cm, BC=10cm, and  . 

Find the perimeter and area of the circle

ClassVideo Link  Scan for Video





Activity 5

 12 Added to 12 times of a number is equal to 15 times the 
number,What is the number?
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ACTIVITY 3.
O is the centre and P,Q and R are the points on the circle. If < POR=50°,

< QOR=80°
 then find,
               a)< OPR
               b)< OQR
               c)< ORP
               d)<ORQ
               e)<PRQ

ACTIVITY 4.
O is the centre and A,B and C are the point on the circle. If <AOC=100°,

< AOB=140°
 then find    a) < BOC       b) < OAB     c) < OAC     d)  <  OBC    e) <  CA B   f) < ACB
g) < ABC



 ACTIVITY 5.
        A,B,C and D are the points on the circle . If < BDC=30°,   < ACD=40°, 

< CBD=35° then find. 
a) <  ABD
b) <  CAD
c) <  BAC
d) < ABC
e) < ADC
f) < BCD
g) <D A B
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Class  :  10 Subject :  Maths Date : 07.09.2020 Worksheet No .    14

 LESSON  :   CIRCLES
ACTIVITY   1

In the figure 'O'  is the centre of the circle and P,Q,R,S are 

points on it  . < POR = 1100. Find  < PSR and < PQR

ACTIVITY   2

'O' is the centre of the circle and  A,B,C are three points on it. 

a) Find all angles of  ∆ ABC

b) Find all angles of ∆ OBC , ∆ OBA , ∆ OAC

ACTIVITY   3

P,Q,R and S are four points on a circle with centre O . < ROS =800  and

< QSR = 300  . Find the following angles .

a) < QOR

b) < SQR

c) < OSQ

d) < P
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ACTIVITY  4

In the figure ' O ' is the centre of the circle and PQR is an equilateral triangle .

Find 

a) < QOR

b)< OQR

c)< ORQ

d)< OQP

ACTIVITY  5

O is the centre of the circle and A , B, C are three points on it .

Prove that    < OAC + < ABC =  900
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Circles in the figure intersect at P and Q. Lines through these points meet the 
circles at A,B,C,D. If AD=BC and = = ,
a) =__

b) =__
c) =__
d) =__
e) + =__
f) + =__
g)Is ABCD cyclic?
h)Which type of quadrilateral is
ABCD?
(Rhombus,Parallelogram,Isosceles Trapezium)
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Activity 2 :

In the figure, points A,B,C are marked on the sides PQ,QR,PR of  PQR and the circumcircles of  CBR,  CPA
 are drawn,O is a point where these circles intersect. i). In  , If ∠P = 80°, ∠Q = 60° ∠ R = ?ii). In cyclic quadrilateral  BOCR , AOCP 
a. ∠BOC = ?b. ∠ AOC = ?c. ∠ AOC + ∠ BOC = ?d. ∠AOC + ∠  BOC + ∠ AOB = ?e. ∠ AOB = ?f. ∠ AOB + ∠AQB = ?g. Is AOBQ a Cyclic Quadrilateral? Why ?
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Activity   4

In the given figure,the breadth of the rectangle APQR is same as PB and the breadth of the rectangle PSTC is same as 
PD.  ( That is,PQ=PB, PS=PD)
AP=12cm.  The area of the rectangle APQR =60cm2 

a) What is the area of the rectangle PSTC ?
b) Find the breadth of the rectangle APQR.
c) Find PB.
d) If PC=15cm, find the breadth  of the rectangle PSTC.
e) Find PD.
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അദദദ്ധ്യായയം :  വൃത്തങ്ങള

 പവരത്തനയം     1

   ചചതത്തചല AB,CD     എനന ഞദ്ധ്യാണകള വൃത്തത്തചനകത്തത P എന
 ബചനവചല ഖണചകന.    ഇതത ഉപയയദ്ധ്യാഗചചത തദ്ധ്യാഴഴ തനചടളവ

പരചപചകക

PA PB PC PD AB CD

6 3 11

4 6 7

12 9 13

3 9 9

10 4 9

5 10 11

 പവരത്തനയം  2

     5 cm   നനളവയം , 4 cm     വനതചയയം ഉള ഒര ചതരയം വരകക.    ഇയത പരപളവയം ഒര
 വശയം 6 cm     ഉയം ആയ മഴറദ്ധ്യാര ചതരയം വരകക.



 പവരത്തനയം     3

7 cm   നനളവയം , 5 cm     വനതചയയം ഉള ഒര ചതരയം വരകക.   ഇയത പരപളവയം
  ഒര വശയം 6 cm     ഉയം ആയ മഴറദ്ധ്യാര ചതരയം വരകക.

 പവരത്തനയം     4

        വശങ്ങളഴട നനളങ്ങള 4 cm , 6 cm     എനചവയദ്ധ്യായ ചതരത്തചഴന പരപളവചനത തലദ
    പരപളവള ഒര വശയം 7 cm     ആയ മഴറദ്ധ്യാര ചതരയം വരകക ?
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